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December 5, 2017

7.2 Compound Angle Formulas (pay 1)

@

"By the end of next class' lesson:
| can derive and apply all compound angle formulas.

| can apply what | have learned in unfamiliar settings."

Trig Identities from last class...

Odd and Even
/sm = —sin 6’\
cos(—H) =cosd
tan(—6) = —tan®

(see summary on p. 391)

- /

Cofunction
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cosf = sm(——&

tan @ = cot(——@
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@3 summary on p.

On a circle with radiusr...

sin0=Z cosé’:f tan@ = =
r r X
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Recall:

. .. tient Identiti

Reciprocal Identities Quotie i dentitics
tan & sin &
anf =

secd =

cscl = ,l

; cost
sin &

cosd

Pythagorean Identities
cotd =

tan & sin*@+cos* @ =1
tan* 6 +1=sec’ &

l+cot?@=csc’ @

cotd =

_~sin 20=1-cos* @
cos?@=1-sin*0

-

(cos,sin 0)
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This means ifr =1 ther\
sind=y, cosf=x
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sin ¢

A sneak-preview of the
Compound Angle Identities:

Addition Formulas
sin(a + b) =sinacosb + cosasinb

cos(a+ b) =cosacosb —sinasinb

tana + tan b
1 —tanatanb

tan (a + b) =

Subtraction Formulas
sin(a — b) =sinacosb — cosasinb
cos (a — b) =cosacosb + sinasinb

tana — tanb
1 +tanatanb

tan (a — b) =
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A compound angleis an angle that is created by adding or subtracting two omore angles.

Create an identity for cos@ + b)

(e ohth) sin(M8)

" (cosA, sind))

p(10)
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\g&os(/mg)— bau(sm{/mﬂ—o)a: ) Ccosh-cost8} s (sind-5in £B))°

OSUY2 sty 4 572(045) = o hacshskolecf)
| 4 -2cos( T 4sin"A-asinfsnlOH Sin (3)
costhm) = (1| ~2BAcosted) a5
SinA Sy (-13)

)9/“9(03 64'“3) < Q/'aCOSq COSB3 - QsinA(SiqD)
~200S (4B) = - cos4 cosR +2 3inAsinR
Y -2
Cos(A+8) = coshosR— Sind sinR

0 (( st 3) i1 ( B)\

4/50 d Cos(q—L) < (dﬁacosb(-sino Sinb
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Now let's create an identity for sing + b)

Recall: sin@= coS(L-6)

Sin (a—%) = CoS /%—"(a#L\)
=C05('g'0"‘1’)
= cos«%r‘“%ﬂ |
. {F~a)szn1>
- cos(52) cosh+ 5P °

= sina cosh+ €cOSa sinla

" Sinfatl)= Sinacosh 4 Cosa sin b
4/30 Sn /Q—D: Sina<ash - cosa SinL:

Ex. 1: Simplify to an exact value:

Ex. 2: Find the exact value of sin£
Sx T
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Entertainment...

pp-400-401 #1, 2b, 3, 4ade, Sabd, 6ace, 7ace, 8cd, 11, 16
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